

function

20/11



be IN Class

ONLINE CLASSES

(input) $\longrightarrow$ (output)

Ex $\hookrightarrow f(x) = 2x + 3$

If $x = 3$ (input)

$$f(3) = 2(3) + 3$$

$$= 6 + 3$$

$$= 9 \longrightarrow \text{output}$$

function



every input has only
one output



be IN Class

ONLINE CLASSES

Input
↓
domain
↓
x

output
↓
Range
↓
y

EX 1

$$x^2 + y = 1$$

Is this a function?

$$\text{If } \underline{x=2} \rightarrow (2)^2 + y = 1$$
$$\quad \quad \quad \underbrace{4 + y = 1}$$

$$y = 1 - 4$$

$$\underline{y = -3}$$

There is only one value of y
This equation is a function

Exr 2 (a) $y^2 + x^2 = 10$

let $x=2$

$$y^2 + (2)^2 = 10$$

$$y^2 + 4 = 10$$

$$y^2 = 10 - 4$$

$$y^2 = 6$$

$$y = \pm\sqrt{6} \begin{cases} y = \sqrt{6} \\ y = -\sqrt{6} \end{cases}$$

2 solutions

(not a function)

(b) $3x + y = -4$

let $x=3$

$$3(3) + y = -4$$

$$9 + y = -4$$

$$y = -4 - 9 \\ = -13$$

(a function)



be IN Class

ONLINE CLASSES

Ex: 3 @ $\{ (1, 2), (-2, 5), (8, 0) \}$ (x, y)

domain

Range

1 $\longrightarrow$ 2
-2 $\longrightarrow$ 5
8 $\longrightarrow$ 0

(function)



be IN Class

ONLINE CLASSES

⑥ $\{ (3, 4), (7, -3), (3, 6) \}$

not a function

domain Range

3 $\longrightarrow$ 4
7 $\longrightarrow$ -3
3 $\longrightarrow$ 6

Ex 4

$$g(x) = -x^2 + 3x + 17$$

Hint * $g(0) = -(0)^2 + 3(0) + 17 = 17$

$$\begin{aligned} * g(-2) &= -(-2)^2 + 3(-2) + 17 \\ &= -(4) - 6 + 7 = -10 + 7 = 7 \end{aligned}$$

$$\begin{aligned} * g(x+h) &= -(x+h)^2 + 3(x+h) + 17 \\ &= -(x^2 + 2xh + h^2) + 3x + 3h + 17 \\ &= -x^2 - 2xh - h^2 + 3x + 3h + 17 \quad \checkmark \end{aligned}$$



be IN Class

ONLINE CLASSES

Rule

$$(a+b)^2 = a^2 + 2ab + b^2$$

Ex-5 Evaluate the piece-wise function.

$$f(x) = \begin{cases} x^2 + 3x + 8 & x < 0 \\ 2x^2 - 7 & x \geq 0 \end{cases}$$



be IN Class

ONLINE CLASSES

when $x = -2, 0, 3$

sol

$$* f(-2) = (-2)^2 + 3(-2) + 8 = 4 - 6 + 8 = 6$$

$$* f(0) = 2(0)^2 - 7 = -7$$

$$* f(3) = 2(3)^2 - 7 = 2(9) - 7 = 11$$

Ex 6 find the domain



be IN Class

ONLINE CLASSES

(A) $\{(-2, 0), (-1, 4), (0, 2), (2, 2), (4, -1)\}$

Domain $\rightarrow \{-2, -1, 0, 2, 4\} \rightarrow$ function.

(B) $\{(5, -2), (4, -10), (5, 9)\} \rightarrow$ not a function

Domain $\rightarrow \{5, 4\}$

(C) $f(x) = \frac{1}{x+5}$

Domain is all real numbers except $x = -5$

$$\begin{array}{l} x+5 \neq 0 \\ x \neq -5 \end{array}$$

Ex 7 Find the domain.

(i) $f(x) = \frac{1}{x^2 - 9}$

$$x^2 - 9 \neq 0$$

$$x^2 \neq 9$$

$$x \neq \pm \sqrt{9}, x \neq \pm 3$$

domain is all real numbers except $\{-3, 3\}$

or $\rightarrow \mathbb{R} - \{-3, 3\}$

(ii) $f(x) = \frac{1}{x^2 + 25}$

$$x^2 + 25 \neq 0$$

$$x^2 \neq -25 \rightarrow \text{There is no number for}$$

$$\boxed{x = \sqrt{-25}}$$

* domain is all real numbers



be IN Class

ONLINE CLASSES

Ex 8 Find the domain

(f) $f(x) = \sqrt{x-3} \rightarrow x-3 \geq 0$
domain is $[3, \infty)$ $x \geq 3$

(a) $f(x) = \frac{1}{\sqrt{x-8}} \rightarrow x-8 > 0$
 $x > 8$

domain is $(8, \infty)$



be IN Class

ONLINE CLASSES

Ex 9 find the domain.

(H) $f(x) = x^2 - 7x + 10$ (function is polynomial)

domain is all real numbers $\rightarrow (-\infty, \infty)$

(i) $f(x) = |x - 5| \rightarrow V\text{-shape}$

domain is all real numbers $\Rightarrow (-\infty, \infty)$.



be IN Class

ONLINE CLASSES

* Summary

* function is polynomial or Absolute

* Domain is all real numbers $\rightarrow (-\infty, \infty)$

* fraction $\rightarrow$ denominator $\neq 0$

* square root $\rightarrow \sqrt{M} \rightarrow M \geq 0$

* Different Quotient $\rightarrow \frac{f(x+h) - f(x)}{h} \rightarrow h \neq 0$

Ex 10 Find the Different Quotient
 $f(x) = x^2 - 3$

$$(a+b)^2 = a^2 + 2ab + b^2$$

* $f(x+h) = (x+h)^2 - 3 = x^2 + 2xh + h^2 - 3$

$$\begin{array}{r} \overbrace{(x^2 - 3)} \\ - x^2 + 3 \end{array}$$

* $\frac{f(x+h) - f(x)}{h} = \frac{\cancel{x^2} + 2xh + \cancel{h^2} - \cancel{3} - \cancel{x^2} + \cancel{3}}{h} = \frac{2xh + h^2}{h}$

$= \frac{h(2x + h)}{\cancel{h}} = 2x + h$

Ex 11 Find the quotient $f(x) = x^2 - 2x + 5$

$$\text{Quotient} = \frac{f(x+h) - f(x)}{h}$$

$$* f(x+h) = (x+h)^2 - 2(x+h) + 5 = x^2 + 2xh + h^2 - 2x - 2h + 5$$

$$* \frac{f(x+h) - f(x)}{h} = \frac{\cancel{x^2} + 2xh + h^2 - \cancel{2x} - 2h + 5 - \cancel{x^2} + \cancel{2x} - 5}{h}$$

$$= \frac{2xh + h^2 - 2h}{h} = \frac{h(2x + h - 2)}{h} = \boxed{2x + h - 2}$$